FIRST TERM EXAMINATION 202425
Class- X

SUBJECT: MATHEMATICS
MM KD

stion Paper has 5 Sections A, 15, ([ and |

on A has 20 MCQs carrying | mark cacl,

1 B has 5 questions carrying 02 marks cach

n C has 6 questions carrying 03 marks cach

has 4 questions carrying 05 marks cach

case based integrated units of assessment (04 marks cach)

values of 1, | and 2 marks cach respectively

are compulsory,

SECTION A
18 2400, Which of the following cannot be the

(d) 300

ons 2x + Sy = 3 and (k+ 1)x

in the ratio 3:5. Find




v2-

(¢)x =90,y = 150 (d) None of these

103, 37x + 29y = 95 1s -

Q6. Solution of the system . 29% + 3Ty
(d)yx=2.Y I

@Wx=1,y=2 ()x=- 2,y=1 (©x=2,y I

Q7. (x" +1)' = x" = 0 has
(l) four real roots  (b) two real roots () no real roots ( d) one real root

wwm{onowlnquwmhuthc sum of its roots as 37
5!*"0@) -x! 4+3x-3=0 (¢) J2x? /——X‘l 0 (d)

ree consecutive

»@vﬂ"lhwf « for which 2x, (x+10) and (3x+2) are the th
,* moqu.z.

MAD.LBCThen
{ BDXCD =AD? (d)ABxAC=



£

b A circle drawn with origin as the centre passes through, (132, 0). The
which does not lie in the interior of the circle is

=1 o%) ©o6-1) ow(-6.3)

sin? 0 = 1, then cos® 0 + cos' 0 -
@l (@2

A-5sec* A+ 1 is equal to

CosA cosAd
(c) 1-cosA (d) 1+ cosA

h casts a shadow of 2y/3 m long on the ground. then the

(d) 90°

ion number 19 and 20, a statement of assertion (A) is
'Reason (R). Choose the correct option
re true and reason (R) is the correct

and reason (R) is not the correct

St two zeroes.
S it in the ratio 1:1.
the line segment joining



Lk
SECTION B

Q21. The LCM of the two pumbers is 9 umes their HCF. The sum of LCM and
- HCF is 500. Find therr HCE.

= Find the sumber of natural numbers between 101 and 999 which are
2 by both 2 and 5.
OR

term of an AP be —and nth term be - _ show that its (mn)th is 1.

JAB, BC and median AD of triangle ABC are respectively
10 sades PQ. QR and median PM of triangle PQR. Show that ABC

1
tand+cotA

prove that cos 8 —sin 8 = V2 sin 0.
X and y such that the point P(x.y) is equidistant

pial fix)= x* + px + 45 such that square
the value of p.

formed by the lines

nger and each metre
remained
per metre?



OR
A two-digit number is such that the product of its digits 1s 1K When 6.4 1
subtracted from the number, the digit inter-change their places. Find the numbey
- Q30. Find the ratio in which the y- axis divides the line segment joming the
~ points (4.-6) and (10,12). Also find the coordinates of the point of division

,_ SECTION D
bananas and he divided them into two lots A and B e

| a total of Rs.400. If he had sold the first lot at the rate
d the second lot at the rate of Rs.4 for § bananas, his total

. OB

If the full fare but the reservation charges are the
full ticket. One reserved first-class ticket costs

88 ticket and one reserved firs(-class half ticket

m speed of SO m/minute.

ins 1o catch him uuou 60 m in first minute
inute every succeeding minute. After how



b-l-

cm
B
b c
In the figure, DE Il BC. Find the length of side AD. given that AE = [.Scm. BD
=T72cmand CE =54cm.

Q5. The angles of depression of the top and bottom of 2 12m il buldng.
ﬁnﬁewnfamuhnwndwmm\ﬂ}findm

 height of the mult-storeyed bus

k li‘ -3 iy

SECTIONE
@(Msa”&cﬁsmﬂes&qamu‘kh\ﬁn}a\a
m:-cpmof&c
‘ er. He takes principal office on

ht—t(huwt:gqhami
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OR

tfind the \ll;ll\uhl distance between stafl room to maths lab

Q37. Nidhi and Ria are very close friends. Nidhi's parents own a Maruti Alto
Ria’s parents own a Toyota Liva. Both the families decide to go for a picnic to
Somnath temple in Gujrat by their own cars

Nidhi’s car travels x km/h while Ria’s car travels 5 km/h more than Nidhi's cai
Nidhi’s car took 4 hrs more than Ria’s car in covering 400 km,

(1) What will be the distance covered by Ria’s car in two hours?

1) Form the quadratic equation describe the speed of Nidhi's car?

11) What is the speed of Nidhi’s car?

OR

1iv) How much time took Ria to travel 400 km?

Q38. In the figure shows the path of a diver, when she takes a jump from the
diving board. Clearly, it is a parabola. Annie was standing on a diving board, 48
feet above the water level. She took a dive into the pool. Her height(in feet)
above the water level at any time *t’ in seconds is given by the polynomial h(t)
such that h(t) = - 16t° + 8t + k.
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1) what is the value of k?
1) At what time will she touch the water in the pool?
1) Rita's height (in feet) above the water level is given by another polynomial
P(t) with zeroes -1 and 2. Then, find the polynomial.
or

The zeroes of the polynomial r(t) = -12¢ + (k — 3)t + 48 are negative of each
other. Then find the value of k.
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